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MASTER OF COMMERCE

Term-End Examination

December, 2018 15945

MCO-005 : ACCOUNTING FOR MANAGERIAL
DECISIONS

Time : 3 hours Maximum Marks : 100
Weightage 70%

Note : (i) Attempt any five questions.

(i) All questions carry equal marks.

]

1. Discuss the functions and limitations of financial
accounting. 10+10

2. State the nature and objectives of financial
statements. How far these statements are helpful
to the parties interested to know the financial
position of the enterprise ? 8+12

3. (a) What is a Sales Budget ? Discuss the
principal factors that should be considered
in developing the sales budget.

(b) Identify the three methods of preparing cash

~ budget and explain any one of these in
detail. 12+8
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4. Differentiate between standard costing and
budgeting. Explain the advantages of standard
costing. 12+8

5. Discuss various kinds of reports prepared by 20
management accountant for different levels of
management.

6.  From the following Balance Sheets of a company
for the year ending 315t December, 2014 and
2015, prepare schedule of changes in Working
Capital and a statement showing sources and
application of funds : 10+10

Liabilities 2014 2015 Assets 2014 2015
4 4 4 4
Share capital |{3,00,000/4,00,000 Machinery| 50,000] 60,000
Furniture | 10,000} 15,000
Stock 85,000/ 1,05,000
Sundry creditors|1,00,000| 70,000 | Debtors |1,60,000]1,50,000
P&LA/C 15, 000( 30,000 Cash |1,10,000{1,70,000
4,15,00015,00,000 4,15,00015,00,000

7.  The following data are available from the records

of a company : 10+545
Sales ¥ 60,000
Variable cost < 30,000
Fixed cost ¥ 15,000

You are required to :

(a) Calculate the P/V ratio, Break-Even Point
and Margin of Safety at this level.

(b) Calculate the effect of 10% increase in sale
price.

(c) Calculate the effect of 10% decrease in sale
" price.
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8. From the following information regarding a
standard product, calculate the Labour Cost, Rate

and Efficiency variances : 7+7+6
Labour Rate 50 paise per hour

Hours per unit 10 hours

Units produced 500

Hours worked 6,000

Actual labour cost 2,400
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8. & W% S ¥ wafa frfafaa sied & amur
T FH TG, R & <&ar fF=mll (labour cost, rate

and efficiency variance) Ed| o I : 7+7+6
H 50 %9 wfq 51

i T He 10 =

Euice oo 500

Y F He 6,000

Freafaw 99 A T 2,400

MCO-005 6



TH.H.31.-005
ST § Edeh T SuTfd
wATa qaem
fedgsr, 2018
TRdt3N.-005 : yeusa Fuial & fog s

39 STfHaH % : 100
T F 70%

W () &4 o go & IR fear@q
i) U IV & o7F qEIT &

1. fodig d@is ¥ & @ gwed & fagw i i110+10

2. faig faawol =t yofa aon 7% kI = oo
Fifsa) 3 faewo Hag wERl & 3TW Ft 5w
feafs 90 QO § o8l 9% GeEF BA B 2 8+12

3. (a) fToha oo § w0 A ¥ foRd SR dAR
A T 3 T FREI H = iy fim m

foraR HE TS o B 1248
(b) S IO TR FW it A faferdl =1 S
HfoT qen ST Q Tt T Fi Sren S|

4. HEE AN AGIHA AT ST i AT BN | AR
AT @i % T 1 IeTE HHT | 12+8
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5. fafim wR & weiys! & fou voy SR g R # 20
S et fafvs ger =t fe =1 fadem i)

6. 31 f&HsR 2014 qom 2015 + FHIG BH T a8 &
for ©w Fut #1 fefafas deiw W @ e
Uit F afta Y ST’ g et % wie Td STanT

%1 foaRo’ TuR =S . 10+10
Foand 2014 2015 |wReufrat| 2014 2015
4 4 4

¥ gt |3,00,000(4,00,000| ==& | 50,000 | 60,000
wreR | 10,000 | 15,000
=% | 85,000 {1,05,000
fafey #7=r (1,00,000| 70,000 | ¥=® [1,60,000(1,50,000
wm-f @@ 15,000 | 30,000 | ¥T |1,10,000{1,70,000

4,15,000(5,00,000 4,15,000(5,00,000

7. & HUl § Hatya Frefafad e sqesn € 1 104545

ICEX T 60,000
TfEt AnTd Z 30,000
feeR @ T 15,000

(a) 39 WR R A9-URATN M (P/V ratio), T
fa=eg foig (Break-Even point), T TR&m &
(Margin of Safety) & TTUHT HIfTT |

(b) Tora 7=a § 10% +t gfg & g = ToE

|

(c) Tasa g9 & 10% & FW F g9F St TET
SHifSTT |
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